
CHROME FORWARD CONTROL KIT FOR BIG TWIN MODELS
(INCLUDING KELSEY-HAYES MASTER CYLINDER)

FITS 4-SPEED FL/FX 1958-1986 AND 5-SPEED SOFTAIL 1986 THRU 1999

Bill Of Materials:
No. Qty. Part Nr. Description

1 1 056159 Plate, Brake Lever
2 1 056160 Brake Lever
3 1 056161 Plunger Heim Joint
4 1 Master Cylinder
5 1 291276 Brake Return Spring
6 1 144165 Master Cylinder Plunger
7 2 Foot Peg (only with kit ZPN 056100)
8 2 345305 Hex bolt

2 Nyloc Nut Wave washer
9 1 011499 Brake Line Kit
10 1 056162 Shifter Bracket
11 1 056163 Shift Arm
12 1 056164 Shift Lever
13 1 056165 Shift Rod FX Type
14 1 056166 Shifter Rod Heim Joint, FX type
15 1 056167 Shifter Rod Heim Joint, FL type
16 1 Shifter Rod, FL type
17 1 345211 Brake Peg
18 1 345306 1/4”-20 Nylock Nut
19 1 345307 3/8”-16 x 4” Hex Bolt
20 4 345308 3/8”-16 x 1” Hex Bolt
21 2 345066 5/16”-24 x 2 1/4” Hex Bolt
22 4 345309 5/16”-24 x 1 1/4” Hex Bolt
23 1 345310 1/4”-28 x 5/16” Set Screw
24 9 345311 5/16”-24 Acorn Nut
25 3 345311 3/8” Inner Tooth Washer
26 1 345312 5/16”-24 x 1” Hex Bolt
27 2 345193 3/8” Lock Washer
28 8 345140 5/16” Lock Washer
29 1 345267 3/8” Flat Washer
30 - Retaining Ring (NOT included)
31 3 345268 Cable Tie 7”
32 1 345269 1/4”-28 UNF Nut
33 1 345300 1/4”-20 x 1” Hex Bolt
34 1 345204 1/4” Flat Washer
35 4 345136 5/16” Flat Washer
36 1 110055 Clevis Pin Kit
37 1 345065 3/8” Flat Washer
38 345301 Item 3 + 8 + 32
39 1 345302 1/4” Spacer

ZO
DI

AC
INTERNATIONAL

B.V.TüVAPPROVED

79 THRU 86 TRANSMISSIONS
FX MODELS

79 THRU 86 TRANSMISSIONS
FL AND FXWG MODELS

OPTIONAL MASTER CYLINDER
FOR DRUM BRAKE APPLICATION

056100/056109

01-01-2003WWWWWW..ZZOODDIIAACC..NNLL

PPEERRFFOORRMMAANNCCEE  PPRROODDUUCCTTSS  FFOORR  HHAARRLLEEYY--DDAAVVIIDDSSOONN®


